Puzzle 14485 - Saturday, 06 May, 2017 - Difficulty 10

] (R [ R [ 10 | i }
' 7F1%5|149|3|8|2]|6
| %ff:; ::::: :Iéf:jffff:, éff:jjfff:; | i
2813116 |715|4/9
2767:: ffff:f,:‘ iT e ié’:’”iiiiii,fff:f,
69|42 |5|8%3 1|7
% : é’éiii fff:f,:"g’,iii?"::ff : :’3’3’::’:::,
4|7]6|5)]2]9|1)8 3
8 | i | ‘
5|39 ([84|1]|7/|6]|2
’2’3’””:::;} | | : :1’2’:: ffffff,‘ i

8|2 1|73 /6|49)|5
% ‘ 1’5’1’75%’,’:’ ffffff,:fffff‘ ‘iiiiiiiiii::
94 8|6 |7 |5f2(3]|1!
7S [ ! (N (R IR K7 S A 2
1617138 |2F9 |54
i i : i ::iiii ,,,,,,,,,,,,,,,, ’Sff:::jfff:fj e e EEE
357291 /4]6|778

Copyright (c) www.dailykillersudoku.com




